Year 1 Maths Homework

Measure Capacity

Measure Capacity

1a. Rob empfied the jug into these cups.
The jug was full.

True or false? The capacity of the jug is 5
cups.
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1b. Holly emptied the teapot into these
cups. The teapot was full.
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True or false? The capacity of the teapot
is 4 cups.
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2a. Lara emptfied the water from the
bottie into the cups. The bottle was full.

Complm the sentence.

The capacity of the bottle is

¢

cups.

2b. Xin emptied the water from the bottle
info the cups. The bottle was full.

Complete the sentence.
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The capacity of the bottie is

¢

cups.

3a. A bowl can be filled using this many
cups.
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3b. A botile of milk can be filled using this
many cups.
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Circle the object that has a larger
capacity than the bottle of milk.

6 cups

2 cups




Measure Mass

Measure Mass

1a. Circle the mass of the cake.
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1b. Circle the mass of the yoyo.
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2a. True or false? The drink weighs 4
cubes.

2b. True or false? The fish weighs 1 cube.
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3a. Which object weighs the same as the

bird?
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| 6cubes |

cake

ball
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3b. Which object weighs the same as the
box?

| 5cubes |

| 4cubes |




Measure Mass

1. Complete the sentences to maich the scales.
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', The train weighs blocks.
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2. Put an 'X' next to the comect sentence.

| ‘T‘_‘ ' A.The apple weighs 7 cubes.

&, 3 ‘ B. The carrot is lighter than 4 cubes.

rEre C.The pear weighs less than é cubes.
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3. Which two items would balance the scales?

m 3 cubes 4 cubes 5 cubes 6 cubes 7 cubes
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pinwheel paint spinning fop frumpet
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Find two possibilities.




